Math 1B (7:30am - 8§:20am)
Quiz 1 Version B
Fri Apr 9, 2010

SCORE: /30 POINTS

What month i3 your dirthday ?

What are the first 2 digits of your address ?
What are the last 2 digits of your zip code ?
What are the last 2 digits of your social security 1
[IF YOU DO NOT HAVE A SOCIAL SECUR
USE YOUR STUDENT ID NUMBER|

Find the derivatives of the following functions. Simplify vour final answers. SCORE: _Q?_;’ 8 POINTS

[a) f(x) = (sinh™ x)(cosh™ x)

[b]  Ax)=tanh™'(sech x)
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Show that imcothx =1. DO NOT use the value of lim tanh x .
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Derive the formula tanh™ x = ~1In ;
' 2 1-x

SCORE: 4} /4 POINTS

NOTE: “DERIVE” means “show how this formula was found”, NOT “take the derivative of”.

R A 1 P
TR X E™ €l T £ -t CD h \f Ll e ?I
&4 LA N} N e
r;_,';_’\}(:;% s e aa _"EA f 1Y &
LR P < '1 » - | T-'-Hy \
Seam——_— = b - 5 -— i
o 5 e { - %) = w4
} L : €Y. )
ﬁ"i"\i__'_ 1 Tl O ¥ L
- 7 o




NEge To OEFEND THS

If sinh x = -2, find sech xand cothx. | | 3 SCORE: __ /4 POINTS
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Simplify 2sinh xcosh x using the exponential definitions of sinh x and cosh x . SCORE: | /3 POINTS
Write your final answer in terms of hyperbolic functions.
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Prove the formula for the derivative of ¢cothx. = P — - cosec p.3 SCORE.: é‘l:ht POINTS
You may use the derivatives of Sinh x and cosh x without proving them.
DO NOT use the derivative of any other hvperbolic function.
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[MULTIPLE CHOICE| sech(lnx)=  ©%*  ex gX nr v ™ o 7 507 SCORE:313 POINTS
2(x? +1) 2x Sl 2x
[a] i (b] = €] 2x~' = 2x \[(K . le]  noneof the above
x x =1 / 1+ x°




